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B. Tech. EXAMINATION, Dec. 2013
[IlIrd Semester B-Scheme (Main Only))
MEAE, AR
ENGINEERING MECHANICS
ME-205-B

Time -3 Hours Maximum Marks :75

Iiefore answering the Question Paper candidates should
ensure that they have heen supplied the correct and
complete Question Paper. No complaints in this regard,
will be entertained afier the examination.

Note: Atempt any five questions at least one

question from each section.
SECTIONA

1T Fy and SO0-N force sum vectorially to Fy,

determine £ and Fr. 15




[image: image2.jpg]2. Where should a 100 N in a downward direction be
placed for the simplest resultant of all the shown
forces to be at position (5, 5) m. 15
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SECTION-IL
3. Find the forces in the members of the truss shown

in figure. 15
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[image: image3.jpg]4. Compute the position of the ceniraid of the shaded

4J,,

e

SECTION-11

5. If 4 weighs S00 N, if 8 weighs 100 N, using the
principle of virtual work, determine the weight of ¢

for equilibrium L

6. Explain Chasle’s theorem. Prove the following
relation for velocity and acceleration of & point on
the rigid body
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Where 7 s position vector of point B with respect
to point A on the rigid hody. 15

SECTION-IV
7. A constant force of S000 N acts on block A
Neglecting friction  everywhere, what is  the

acceleration of block A? Is

8. Delinc any three of the following. 5x3-15
(@) Liqual and cquivalent vector
(8) Second moment of ineria with s physical
significance
(©) Principle of virmal work

(d) Necessary and sufficient conditions for
cquilibrium of a rigid body
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